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Evaluate f X+5dx.

1

2
Evaluate j; X+ 3[x] dx.

2
Evaluate f x>+ x+1dx

1

Evaluate j: 11|X| dx .

Suppose  that ff(x)dx:l , f:f(x)dx:z , j:f(x)dx:B ,
7 6 . 6 7

fs f(x)dx=4, fsf(x)dx:S. Find JI f(x)dx , fl f(x)dx , and
j:f(x)dx.

Find a function f(x) that obeys the above conditions.

. Suppose that flzf(x)dx:l , f27f(x)dx:2 , j;7f(x)dx:3 ,

[togdx=4, [[f)adx=5. Find [fx)d, [f(x)dx, and
7109 dx.

Find a function f(x) that obeys the above conditions.


https://www.youtube.com/playlist?list=PLKJhYfqCgNXjkwxSf-xDV47b9ZXDUkYiN

9. Show that If f is non-integrable and g is integrable then f +g is non-
integrable. Is it true that if f and g are non-integrable then f +4g is
non-integrable as well ? (AT LUESER © AR REEREOE A & Le ] FE R D ]

10. Estimate f “sinx dx via the polygonal functions,
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where edges the outer trapezoid is given by the

tangent of y=sinx at (0,0), (g,l), (m,0), and
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|
the base line, while the vertices of the inner N
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pentagon are (%T,sin I%) for k=0,1,2,3,4.



